SELECTION TEST FOR VOCATIONAL EDUCATION

Name of Candidate Roll No.
Name of School
Vocational Subject

For Examiner Use Only
Max. Marks: Marks Obtained:

Result: Selected/Not Selected
Signature of Examiner

Verified by Principal/HM

General Instruction:
i Each question carries 1 mark.
ii. There is no negative marking.
iii. Candidates are not allowed to take question/answer booklet.

F.M. 30 TIME 60MINS

SECTION-A (FUNCTIONAL ENGLISH)

Q(1-5) Choose appropriate preposition to fill the blanks
1. My best friend lives MG Road.
a.in b. on c.at d. of

2. I'll be ready to leave about twenty minutes.
a.in b. on c.at d. for

3. Since he met his new girlfriend, Juan never seems to be
a.on b. in c.at d. under

4. The child responded to his mother's demands throwing a tantrum.
a. with b. by c. from d.in

5. I think she spent the entire afternoon the phone.
a.on b.in c.at d. with
Q (6-7):- Change the Voice (Active to Passive)
6. He writes a letter. Ans:
7. The mother cooked the food. Ans:
Q (8-10) Match the Following
WORD MEANING
8. Acrobat a. A short amusing story.
9. Cerebral b. One who performs gymnastic feats.
10. Anecdote c. Connected with brain.

SECTION-B (Math+GS+EVS+GK) Tick [V] the Right Option.
Q11. Successor number of 13 is
a) 12 b) 11 c) 15 d) 14
Q12. Which of the following is not true about 4802497




It is divisible by 9.
It is divisible by 11.
It is perfect square.
It is divided by 3 and the quotient is a perfect square.
Q13. What is the sum of greatest five digit number and lowest five digit number?
a) 199999 b) 109999 c) 99991 d) 900999
Q14. 1f 1001x111 = 110000 + 11 x , then the number in the blank space is
a) 111 b) 112 c) 101 d) 110
Q15. How many multiples are there between 50 and 100?
a) 3 b) 2 c) 4 d) 5
Q16. If the product of numbers is 1500 and the H.C.F. is 10, Find the L.C.M.
a) 15000 b) 150 c) 10500 d) 1050
Q17. 1 orange cost two and a half rupees. How much will three and a half dozen oranges cost?
a) 90 b) 105 c) 112 d) 120
Q18. A system which is based on blood affinity relationship is called----
a) Family b) Gotra ¢) Kinship d) Joint Family
Q19. Process through which plants reproduce, it called
a) Photosynthesis b) Evaporation c¢) Condensation d) Pollination
Q20. Carrot, Radish, Sweet potatoes are the modifications of
a) Stems b) Roots c) Buds d) Branches
Q21. Causative Agent Of polio diseases is
a) Mosquito b) Mosquito & Virus c¢) Virus d) Fungi
Q22. Causative Agent Of chikungunia diseases is
a) Mosquito b) Mosquito & Virus c¢) Virus d) Amoeba(protozoa)
Q23. Deficiency of which vitamin causes pellagra?
a) Vitamin D b) Vitamin B2 ¢) Vitamin K d) Vitamin B3
Q24. Deficiency of Mineral cause
a) Tetany b) Kwashiorkor c) Marasmus d) Mental Retardation
Q25. Which of the animal does not live in the tree?
a) Sloth b) Monkey c) Bat d) Honey Bees
Q26. Which of the following is correctly paired?
(a) Rajiv Gandhi International Airport:  Ahmadabad
(b) Kempegowda International Airport:  Bangalore
(c) Meenambakkam International Airport : Chennai
(d) Dabolim Airport : Goa
. Tick the incorrect statement.
(&) There are various separation techniques used for separating different mixtures.
(b) Separation done by hands.
(c) Winnowing is the process of separation.
(d) Separation cannot be done by machine.
Q28. Language of computer is
(@) English (b) Bengali (c) Both (d) None
Q29. Trained individual who specializes in beauty treatments of both the face and body is known
as—

(@) Beauty Advisor  (b) Beauty Therapist  “(c) Pedicurist & Manicurist ~ (d) Assistant
beauty therapist.
Q (30) Write the correct answer.
Q30. Name of longest national highway in India:
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